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Section : Mental Ability

Nithya’s college bus is facing north when it reaches her college. After starting from Nithya's house, it turns right twice
ya 2 2 2 2 1y
;x;i ;:jn left before reaching the college. What direction was the bus facing when it left the bus stop in front of Nithya’s QU estion ID : 1626531229

Ans X 1. South
X 2. North
/< 3. East

' 4 West
Q.2 Youare given two statements and two conclusions. Choose the comment about conclusion from the given options
belons Question ID : 1626531219
Statements:

i)  Allhill stations have a sun-set point.
i)  Village A is a hill station.

Conclusions:

L Village A has a sun-set point.
1L Places other than hill stations do NOT have sun-set points.

Ans  of 1. Only conclusion I follows

# 2. Either I or II follows
/< 3. Only conclusion II follows

& 4. Neither I nor II follows

Q3 Introducing a girl, Naveen said, “This girl is the wife of the grandson of my mother”. How is the girl related to Naveen?

Ans  of 1. Father-in-law
& 2. Husband
# 3. Father
& 4 Grandfather

Question ID : 1626531223

Q4 Four students are sitting on a bench. Swathi is to the left of Reethu. Monika is to the right of Reethu. Ragavi is between
Reethu and Monika. Who would be second from the left? Question ID : 1626531238

Ans  of 1. Ragavi
& 2. Swathi
< 3. Monika
& 4 Reethu

Q.5 select the option that is related to the 3 number in the same way as the 24 number is related to the 15 number.

Question ID : 1626531236

12292000622

Ans X 1. 182
X 2 256
X3 84
v 4 128

Q.6 [

Question ID : 1626531228 ]
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Find the missing number for the following. ' !
9 10 13 14
7 16 25 15
12 12 22 ?
274 500 1278 1321
Ans x 1. 20
X2 32
V'3 30
X 4 28
@7 IfE =5, H=_8and HAT = 29, then PAPER = ? Question ID : 1626531232
Ans x 1. 64
X2 46
X 3 65

v 4 56

Q.8 Inthe following question, choose the venn diagram which best illustrates the relationship among three given items.

Question ID : 1626531237

House, Kitchen. Bedroom

Ans

F !

QR

Q.9 Arya is 8 ranks ahead of Surya who ranks 26™ in a class of 42. What is Arya’s rank from the last? .
Question ID : 1626531226

Ans ( 1. 251-]1
X 2 7th
x 3. 23(&
Q10 Find the odd one out. Question ID : 1626531221

Ans 1. Aroma
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/< 2. Fragrance

< 3. Smell
v 4 Feel

Q11 Choose the most appropriate alternative for the following. Question ID - 1626531235

A disease always has

Ans X 1. Nurse
X 2 Cure
& 3. Medicine
W 4 Cause

Q12 WWhich term of the series 5, 10, 20, 40. 80, ..... is 2560?
Ans x 1. llth

x 3. Sth

x 4. gth

Q_ 13 Youare given a question and two statements I and II. You have to decide whether the data provided in the statements are

sufficient to answer the question. Question ID : 1626531233

On which date of month was Harish born in February 2000?

Question ID : 1626531224

Statements:
i Harish was born on an even date of the month.
IL Harish’s birth date was a prime number.

Ans (1_

Data in both statements [ and II together are necessary to answer the question

X2

Data in statement I alone is sufficient to answer the question

< 3

Data in both statements I and II together are not sufficient to answer the question

K4

Data in statement IT alone is sufficient to answer the question

Q.14 IfX>Y,Y>Zand Z>W, then which of the following conclusions is definitely wrong?
Ans J1_ W=A

X2 A>Z

X3Y>W

X4 A=W

Question ID : 1626531231

Q15 Find the correct water image for the following word. Question ID - 1626531220

HIDE
Ans X 1. EQIH
X 2 EDIH
v 3 HIDE
X 4 HIQE

Q 16 A cube is painted green on all faces. It is cut into 64 smaller cubes of equal size. Fow many cubes have no face painted?

Ans J1_ 3
X216
X312

Question ID : 1626531227
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X410

Q17 Choose the correct alternative for the following. Question ID - 1626531234

Skeleton : Bone : Nerve

Ans - X 1. Leave : Flower : Sand
+ 2. Eye : Retina : Pupil
X 3. Sugar : Milk : Drink
& 4. Snow : Cloud : Wind

Q_ 18 Ina certain code language CHILDREN is written as BIHMCSDO, then how will CHOCOLATE be written in that code?

Ans X' 1. BINDNMZSD
v 2. BINDNMZUD
X 3. BINDNKZUD
X 4 BINDNMBUD

Question ID : 1626531225

Q. 19 Two train tickets from city X to Y and three tickets from city X to Z cost T 77 but three tickets from city X to Y and two
tickets from city X to Z cost ¥ 73. What are the fares for cities Y and Z from X respectively? Question ID : 1626531230

Ans X1 13,T 15
v2713.317
X3 T15313
X4314.317

Q20 In the following question, a word has been given, followed by four other words, one of which CANNOT be formed by
using the letters of the given word. Find that word. Question ID : 1626531222
INTERNATIONAL

Ans X 1. NATION
& 2. ORIENTATION
v 3 REACTION
X 4. RATIONAL

Section : General A wareness

Q1 9 AT E T UF Tpfae MREUTEE 9 F SoNeHaT Hoheard WSRO &y & )
RO HEegT w9 & TR g ¥ Question ID : 1626531250

K i g
X 2. JeT FH gEn
X 3 ot Taerer g
v o aiEfasE g@r

Q2 freg U e &7 WiEETew _ # fRua ¥ Question ID : 1626531257

Ans o T
X 2 AT
X 3 ofrg
X 4TI

Q3 The Indian Constitution has made some provisions for administration for states. Which one of the below is correctly [ ]
matched?
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Ans

v
Article 371 C : Special provision with respect to the State of Manipur.

<2

Article 371 A : Special provision with respect to the State of Sikkim.

p

Article 371 A : Special provision with respect to the State of Assam.

K4

Article 371 B : Special provision with respect to the State of Nagaland.

l
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Question ID : 1626531242

Q4

Ans

‘Which of the following pairs is correctly matched?
/< 1. Surat Split of Congress : 1908
< 2. Home Rule League : 1917
/< 3. Bengal Partition : 1911
v 4 Lucknow Pact : 1916

Question ID : 1626531240

Q.5
Ans

Which of the following statements regarding the Kakori Robbery is incorrect?

v

The members of the Hindustan Socialist Republic Association executed the robbery

X2

On 9 August 1925, ten men held up the 8-Down train at Kakori and looted its official railway cash

< 3.

Ashfaqulla Khan, Ramprasad Bismil, Roshan Singh and Rajendra Lahiri were hanged

< 4. None of the other options

Question ID : 1626531239

Q.6

Ans

What is the full form of WPI?
# 1. Wholesale Price Inflation
v 2. Wholesale Price Index
& 3. Wholesale Parameter Index
/< 4. Wheat Production of India

Question ID : 1626531252

Q.7
Ans

Who is NOT associated with tradition of Hindustani classical music?
& 1. Ghulam Al

X 2. Ustad Abdul Rehman Khan
X 3. Lakshmi Shankar
+ 4 Purandara Dasa

Question ID : 1626531248

Q.8
Ans

NALCO is a Navratna company under Govt. of India. Which of the following is TRUE about NALCO?
v
NALCO stands for National Aluminium Company Limited

X2

This company comes under the Ministry of Labour, Govt. of India
3. It was established in 2001
/< 4. Its headquarter is located in Bhopal

Question ID : 1626531258

Q.9

Ans

Who discovered the vitamins in 19127
v 1. Casimir Funk

& 2. McCollum

# 3. John Watson

< 4. Fredrick Miser

Question ID : 1626531253
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Q.10 Which state was formed first on the basis on language in independent India?

Ans 1. Karnataka
/< 2. West Bengal

/< 3. Punjab
v 4 Andhra Pradesh

Question ID : 1626531241

Q.11 When was Indian Space Research Organisation was established?

Ans  of 1. 1969
X 2. 1957
X 3. 1963
X 41974

Question ID : 1626531256

Q_ 12 Which of the following statements is incorrect about upcoming Cricket World Cup (officially ICC Cricket World Cup)?
Ans o 1. Tt will be hosted by Australia
X2

12th edition of the Cricket World Cup is scheduled in 2019
/< 3. The World Cup will feature 10 teams
/< 4. Tt is scheduled from 30 May to 14 July 2019

Question ID : 1626531245

Q13 Who is considered as the father of statistics in India? Question ID : 1626531251
Ans - X 1. R.C. Dutt
/< 2. Dadabhai Naoroji

X 3. N.R. Madhav Menan
' 4. Prasanta Chandra Mahalanobis

Q.14 The famous saying a government of laws and not of men is related to

Ans X 1. Directive Principles of State Policy
X 2. Presidential Emergency
'3 Fundamental Rights
< 4. Rights under Citizenship

Question ID : 1626531244

Q.15 Below are pairs of famous sportspersons and the games they play. Which pair is incorrect?

Ans o 1. Neelam Jaswant Singh : Wrestling
X 2. Dingko Singh : Boxing
< 3. Vijay Hazare : Cricket

Question ID : 1626531246

/< 4 Koneru Humpi : Chess

Q.16 izaes ¥ 1 vF Ageaor BF of S faEew # seufes ¥ Hattw o7 Aisames Foan A
el # & Fla @ Sy wew 2 Question ID : 1626531249

Ans «1'
it=araTels & gfEror snfre, gfEvr R, st Ay FEiels afae o
<2
TR F fEvh ey & sisaels FEr S or

X3
af@uT AR, nfe, Ef@uT ang, AR 3t seERer @ s 99 & TR REd & aisaeres
T FTET o
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X 4

I & ool 6T & FEAE sealt AfE A e e & G sisaeels wer e o

Q.17 Which Bharat Ratna awardee was famous as a Carnatic classical vocalist?

Ans 3" 1. Bhimsen Joshi
< 2. Ravi Shankar
# 3. Bismillah Khan
« 4 M.S. Subbulakshmi

Question ID : 1626531247

Q.18 Which one out of the following statements about Aryabhatta Satellite is incorrect?

Ans X1,

Tt was built to conduct experiments in X-ray astronomy, aecronomics and solar physics
X 2. Aryabhatta was the first Indian Satellite
X

It was made by Indian Space Research Organisation

v 2

Aryabhatta was launched from Satish Dhawan Space Centre, Sriharikota

Question ID : 1626531255

Q19 Bronze is an alloy of two metals, namely:

Ans 1. Copper and Lead

Question ID : 1626531254

' 2. Copper and Tin
#< 3. Copper and Aluminum
/< 4. Copper and Iron

Q 2(0 Which article of the Constitution provided the power to the Parliament to amend the Constitution and procedure?

Ans X 1. Article 226
& 2. Article 356
& 3. Article 108
v 4 Article 368

Question ID : 1626531243

Section : Arithmetic Ability

Q.1 The digit in the unit’s place in the number obtained after calculating 333 — 63 + 273% is:

Ans X1 4
X22
VER:
X4 6

Q.2 What is the sum of digits of the least number that should be subtracted from 625355 to make it a perfect square?

tion ID : 1626531261
Ans x - Question

X212
V3 13
X415

Q.3 If7 men working 7 hours a day eam ¥ 17,640 in 8 days, then 9 men working 8 hours a day in 10 days will earn how

much money? Question ID : 1626531274
Ans 1. F 28.800

X 2. T35,280

Question ID : 1626531260
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X 3 T34,560
V 4 T32.400
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4 The value ofa 0.18+ 0.23 — 0.183 is:
Ans of 1. 0.237

x 2 0.237

” 3 0.327

X 4 0.327

Question ID : 1626531262

Q5 A, B and C can complete a certain work in 10, 15 and 20 days respectively. B and C started the work but both left after
5 days. In how many days, A alone will complete the remaining work?

Ans 23

x: 2
15
4
Vs E
6
13
£

X2

K4

Question ID : 1626531273

Q.6 By selling 12 articles, a person gains cost price of 3 articles. What is his gain percent?

Ans X 1. 20%
v 2 259
X 3.18%

Question ID : 1626531268

Q.7 The diagonal of a rectangle is 8+/5 cm. Ifits perimeter is 48 cm, what is its area in cm??

Ans  of 1. 128
X 2 6445
X 3320
X 4 160

Question ID : 1626531271

Q 8 A train without stoppage travels at the speed of 90 km/h and with stoppage it travels at 78 km/h. How many minutes the
: train stops on an average per hour?

Ans X112
X209
v s
X410

Question ID : 1626531276

Q.9 The value of a machine depreciates every year at the rate of 12% per annum. If the present value of the machine is
T 36,000, what is the percent decrease in its value at the end of two years?

Ans X1 30.45%
X 2 36%
v 3 22.56%
X 4. 24.38%

Question ID : 1626531270

3
Q. 1 0 An article is sold at a certain price. By selling it at a of that price, one gains 8%. What is his gain percent at the original
price?

Ans x 1. 40%

Question ID : 1626531269
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< 2 36%
V'3 44%
< 4 30%

Q_ 11 A boatcan go 15 km upstream and 50 km downstream in 6 hours. If speed of the stream is 2.5 km/h, what is the speed

of boat in still water in km/h? Question ID : 1626531275

Ans of 1. 10

X238

<39

X412
Q.12 Each edge of cube is increased by 40%. What is percent increase in its surface area?
Ans X 1. 160%

X 2 40%

X 3 120%

4 96%

Question ID : 1626531272

Q.13 AsumofX4.342 is divided among A. B and C such that 2 times A’s share, 5 times B’s share and 6 times C’s share are

equal. What is the share of C? Question ID : 1626531266
Ans 1. 2,505

2 73835
X 3 T1,670
X 471,002

Q.14 Two vessels A and B contains spirit and water in the ratio 3 : 8 and 6 : 5. Their contents are mixed in the ratio 1 : 2.
“What is the ratio of water and spirit in the new mixture? Question ID : 1626531265

Ans X' 1.11:10
v26:5
X3 10:11
X45:6

Q_ 1 5 The HCF of two numbers is 18 and their sum is 270. If both are three digit numbers, what is sum of their reciprocals?

Question ID : 1626531263

Ans . 1 5
168

: 15
X 2=
56

5

i3 =

336
15

K4

224

Q.16 2 2 %
T 0f133 +156°4194°—138X156+156X194+194X138 w Question ID : 1626531259
(13.8)3+(15.6)3—(19.4)3+13.8X15.6x58.2

Ans X 1. 1000
X 2. 10,000
Vv 3 10
X 4100

Q_ 17 The average marks of 60 students of a class were found to be 64. Later, it was found that marks of two students were
wrongly read as 42 and 28 in place of 24 and 76 respectively. Then what is the correct average marks? Question ID : 1626531264

Ans X 1. 64.8
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X 2 644
W3 o645
X 4 64.2

81
Q.18 If numerator of a fraction is increased by 170% and denominator is decreased by 30%, it becomes il ‘What is the

original fraction? Question ID : 1626531267

Ans

9
}(1.ﬁ
X2
< 3

v &

B =] W U

Comprehension:

The following table gives the marks obtained by 200 students in a
class test out of 80 marks. Read the table and answer the following
qustions.

Class 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
Interval

No. of 20 28 32 40 36 28 16
Students

SubQuestion No : 19

Qg If the given data is represented as PlE-Cl.laIT: what is Question ID : 1626531279
the central angle of the sector representing the
median class to nearest whole degree?

An - X 1. 57.6°
S
X 2 64.8°
W3 720
< 4. 504°

Comprehension:

The following table gives the marks obtained by 200 students in a
class test out of 80 marks. Read the table and answer the following
qustions.

Class 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
Interval
No. of 20 28 32 40 36 28 16
Students
SubQuestion No : 20
@2 What is the mean marks obtained by students? Question ID - 1626531278
An X 1.452

S

v 2 446
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< 3 438
X 4 448
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Section : General English

QA1

Ans

What is the ANTONYM of Waver?
v 1. Resolute
/< 2. Falter
3. Dither
& 4 Vacillate

Question ID : 1626531289

Q.2

Ans

What is the ANTONYM of Appraise?
W 1. Neglect

& 2. Evaluate

X 3. Adjudge

& 4. Calibrate

Question ID : 1626531293

Q.3

Ans

Fill in the blank with the most appropriate word.

If you drop out of the school, party all the time and waste your life, you have chosena _____ lifestyle.
&< 1. decorous
/< 2. distinguished
/< 3. disguised
W 4 dissolute

Question ID : 1626531285

Q.4

Ans

Identify the sentence that is set in active voice.
/< 1. The Veena was played by Naradhar.
& 2. The Veena that Naradhar played.
/< 3. The Veena was played.
' 4 Naradhar played the Veena.

Question ID : 1626531281

Q.5

Ans

What is the ANTONYM of Indigent?
< 1. Impoverished
& 2. Destitute

X 3. Insolvent
v 4 Affluent

Question ID : 1626531291

Q.6

Choose the grammatically correct sentence from the below.

r R0

I am going to get five orange, six apple and ten peach from the store.

X2

I gonna get five oranges six apples and ten peach at the store.

p 3

I am gonna get five orange. six apple and ten peach at the store.

v

I am going to get five oranges, six apples and ten peaches from the store.

Question ID : 1626531283
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Q.7 If you feel chilly, you might close a window that is letting in a draught l

Question ID : 1626531287 J

‘What does the word draught mean in the above sentence?

Ans  of 1. A cold burst of wind
/X 2. A scorched spell

/< 3. A storm blowing from the sea
< 4. A bout of aridness

Q8 YWhat is the SYNONYM of Epithet? Question ID : 1626531290
Ans X 1. Trio
& 2. Parable
v 3 Nickname
&< 4 Thesis

Q9 YWhat is the SYNONYM of Condone? Question ID - 1626531292

Ans X 1. Disallow
/< 2. Prohibit
v 3 Excuse
/< 4. Forbid

Q10 Choose the correct spelling from below. Question ID : 1626531282

Ans o 1. Embarrassed

X 2. Mysterius

/< 3. Unconcious

X 4. Straigt

QM Choose the sentence with the correct punctuations. ol i, IR s 1250

Ans X 1. “Help cried” Sita!
X 2. Help! “cried Sita”.
' 3. “Help!” cried Sita.
X 4 Help! “cried” Sita.

Q_ 12 Which of the following adjectives can be used to describe an extremely strong, powerful, vigorous, intense emotion or

force? Question ID : 1626531288
Ans  of 1. Vehement

& 2. Timorous
X 3. Bashful
< 4. Apathetic

Q.13 Fill in the blank with the most appropriate word.
Question ID : 1626531284

The giants are stomping and roaring to life, hurling their bodies into each other’s arms.

Ans 5 1. sparse

v 2. colossal
X 3. infinitesimal
X 4 thrift

Q.14
Question ID : 1626531286
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The beautiful damsel wore a splendid dress with broad bands of dun alternated with narrow stripes of red. \ J

‘What does the word dun mean in the above sentence?

Ans X 1. Ornamentation
< 2. Decorative fabric
+ 3. Colour or pigment

/< 4. Bright embroidery

Q15 What is the SYNONYM of Diligent?
Ans X 1. Elite

X 2. Slipshod

& 3. Slack

W 4 Meticulous

Question ID : 1626531294

Comprehension:
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Read the following passage and answer the questions that follow.

NEW DELHI: His seat belt tightly strapped to his body and his
hands firmly on the steering wheel, Jai Kumar looks tense as he
waits in a Maruti Ertiga at the Indira Gandhi International Airport.
Today, a man’s life depends on his driving skills — he has to
transport a beating heart from the airport to All India Institute of
Medical Sciences (AIIMS) where a transplant is scheduled in an
hour.

The Delhi Traffic Police have arranged a ‘green corridor’ — a
special route that will give Kumar an uninterrupted passage during
the peak traffic hour in the morning. But still, there is no margin of
error.

“I have driven in a green corridor once before, but I cannot get
rid of the fear of getting stuck in a traffic jam,” says Kumar. The
conversation is cut short midway as a doctor carrying a heart in an
organ preservation box hurriedly emerges from the airport and paces
towards the waiting vehicle.

The route is not very different from a VIP movement corridor —a
familiar irritant in Delhi — but causes barely five minutes of
inconvenience to other motorists along the route. Escorted by three
police vans and four motorcycles — sirens blaring constantly and
traffic officers on the way frantically waving aside obstructing
vehicles — the vehicle hits speeds of up to 100 km per hour to cover a
14km journey in 12 minutes.

In the end, a patient undergoes a successful heart transplant.

This is no longer a rare occurrence in the National Capital
Region (NCR). What began with a celebrated 32 km journey in 29
minutes from a Gurgaon hospital to one in South Delhi’s Okhla in
January 2015 has now become a regular way of saving lives.

Since January 2017, traffic police have arranged 44 green
corridors in Delhi at an average of over two such trips every month.
“On each occasion, a life was saved.” says Alok Kumar, Joint
Commissioner of Police (Delhi Traffic Police), proud of the fact that
every green corridor has been managed successfully.

Kumar says that never has a request for a green corridor been
turned down. “We can arrange green corridors within 30 minutes of
intimation. There is no margin for error,” says Kumar.

These special corridors are necessary to transport organs such as
hearts, livers, kidneys or eyes after harvesting them from a dying or
brain-dead person to a patient in another hospital.

Time is of utmost importance in these transplants. A heart, for
example, needs to be transplanted within four hours — the earlier the
better, to improve the chances of success.

“It takes six-seven minutes to harvest a heart. Another two-three
minutes are lost in placing the organ in a bag and rushing it to the
ambulance. Transplanting the heart into the receiver’s body takes 40-
60 minutes. We have three hours for transporting the heart from one
hospital to another, so we focus on saving time there.” says Dr
Kewal Krishan, Director of Heart Transplants at Max Super
Speciality Hospital.

SubQuestion No : 16

Q.1 2 z ; o
¢ What is the main theme of the passage? Question ID : 1626531296
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An - 1.
S

The importance of time in transplant of organs

/< 2. Transplanting heart and other organs

v
Transporting organs at a fast pace by creating a green
corridor

X 4

Efficiency of Delhi police in transporting organs

Comprehension:
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Read the following passage and answer the questions that follow.

NEW DELHI: His seat belt tightly strapped to his body and his
hands firmly on the steering wheel, Jai Kumar looks tense as he
waits in a Maruti Ertiga at the Indira Gandhi International Airport.
Today, a man’s life depends on his driving skills — he has to
transport a beating heart from the airport to All India Institute of
Medical Sciences (AIIMS) where a transplant is scheduled in an
hour.

The Delhi Traffic Police have arranged a ‘green corridor’ — a
special route that will give Kumar an uninterrupted passage during
the peak traffic hour in the morning. But still, there is no margin of
error.

“I have driven in a green corridor once before, but I cannot get
rid of the fear of getting stuck in a traffic jam,” says Kumar. The
conversation is cut short midway as a doctor carrying a heart in an
organ preservation box hurriedly emerges from the airport and paces
towards the waiting vehicle.

The route is not very different from a VIP movement corridor —a
familiar irritant in Delhi — but causes barely five minutes of
inconvenience to other motorists along the route. Escorted by three
police vans and four motorcycles — sirens blaring constantly and
traffic officers on the way frantically waving aside obstructing
vehicles — the vehicle hits speeds of up to 100 km per hour to cover a
14km journey in 12 minutes.

In the end, a patient undergoes a successful heart transplant.

This is no longer a rare occurrence in the National Capital
Region (NCR). What began with a celebrated 32 km journey in 29
minutes from a Gurgaon hospital to one in South Delhi’s Okhla in
January 2015 has now become a regular way of saving lives.

Since January 2017, traffic police have arranged 44 green
corridors in Delhi at an average of over two such trips every month.
“On each occasion, a life was saved.” says Alok Kumar, Joint
Commissioner of Police (Delhi Traffic Police), proud of the fact that
every green corridor has been managed successfully.

Kumar says that never has a request for a green corridor been
turned down. “We can arrange green corridors within 30 minutes of
intimation. There is no margin for error,” says Kumar.

These special corridors are necessary to transport organs such as
hearts, livers, kidneys or eyes after harvesting them from a dying or
brain-dead person to a patient in another hospital.

Time is of utmost importance in these transplants. A heart, for
example, needs to be transplanted within four hours — the earlier the
better, to improve the chances of success.

“It takes six-seven minutes to harvest a heart. Another two-three
minutes are lost in placing the organ in a bag and rushing it to the
ambulance. Transplanting the heart into the receiver’s body takes 40-
60 minutes. We have three hours for transporting the heart from one
hospital to another, so we focus on saving time there.” says Dr
Kewal Krishan, Director of Heart Transplants at Max Super
Speciality Hospital.

SubQuestion No : 17

Q.1 H . - o - . -
> What is the Delhi Police’s role in the whole process? Question ID - 1626531300
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7

v &)

Creating and managing the green corridor for the

ambulance

K2

Blaring their sirens to cause inconvenience to
motorists

< 3. Escorting the ambulance carrying the organ
< 4. Driving the ambulance carrying the organ
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Read the following passage and answer the questions that follow.

NEW DELHI: His seat belt tightly strapped to his body and his
hands firmly on the steering wheel, Jai Kumar looks tense as he
waits in a Maruti Ertiga at the Indira Gandhi International Airport.
Today, a man’s life depends on his driving skills — he has to
transport a beating heart from the airport to All India Institute of
Medical Sciences (AIIMS) where a transplant is scheduled in an
hour.

The Delhi Traffic Police have arranged a ‘green corridor’ — a
special route that will give Kumar an uninterrupted passage during
the peak traffic hour in the morning. But still, there is no margin of
error.

“I have driven in a green corridor once before, but I cannot get
rid of the fear of getting stuck in a traffic jam,” says Kumar. The
conversation is cut short midway as a doctor carrying a heart in an
organ preservation box hurriedly emerges from the airport and paces
towards the waiting vehicle.

The route is not very different from a VIP movement corridor —a
familiar irritant in Delhi — but causes barely five minutes of
inconvenience to other motorists along the route. Escorted by three
police vans and four motorcycles — sirens blaring constantly and
traffic officers on the way frantically waving aside obstructing
vehicles — the vehicle hits speeds of up to 100 km per hour to cover a
14km journey in 12 minutes.

In the end, a patient undergoes a successful heart transplant.

This is no longer a rare occurrence in the National Capital
Region (NCR). What began with a celebrated 32 km journey in 29
minutes from a Gurgaon hospital to one in South Delhi’s Okhla in
January 2015 has now become a regular way of saving lives.

Since January 2017, traffic police have arranged 44 green
corridors in Delhi at an average of over two such trips every month.
“On each occasion, a life was saved.” says Alok Kumar, Joint
Commissioner of Police (Delhi Traffic Police), proud of the fact that
every green corridor has been managed successfully.

Kumar says that never has a request for a green corridor been
turned down. “We can arrange green corridors within 30 minutes of
intimation. There is no margin for error,” says Kumar.

These special corridors are necessary to transport organs such as
hearts, livers, kidneys or eyes after harvesting them from a dying or
brain-dead person to a patient in another hospital.

Time is of utmost importance in these transplants. A heart, for
example, needs to be transplanted within four hours — the earlier the
better, to improve the chances of success.

“It takes six-seven minutes to harvest a heart. Another two-three
minutes are lost in placing the organ in a bag and rushing it to the
ambulance. Transplanting the heart into the receiver’s body takes 40-
60 minutes. We have three hours for transporting the heart from one
hospital to another, so we focus on saving time there.” says Dr
Kewal Krishan, Director of Heart Transplants at Max Super
Speciality Hospital.

SubQuestion No : 18

Question ID : 1626531299
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Put these steps of heart transplant in sequence.

A. transporting the heart from one hospital to another
B. harvesting the heart from a brain dead person

C. transplanting the heart in the patient’s body

D. securing the heart in a safe box and rushing it to
the ambulance

An X 1. CABD
v 2. BDAC

X 3. DBCA
X 4 ABCD

GET IT ON
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Read the following passage and answer the questions that follow.

NEW DELHI: His seat belt tightly strapped to his body and his
hands firmly on the steering wheel, Jai Kumar looks tense as he
waits in a Maruti Ertiga at the Indira Gandhi International Airport.
Today, a man’s life depends on his driving skills — he has to
transport a beating heart from the airport to All India Institute of
Medical Sciences (AIIMS) where a transplant is scheduled in an
hour.

The Delhi Traffic Police have arranged a ‘green corridor’ — a
special route that will give Kumar an uninterrupted passage during
the peak traffic hour in the morning. But still, there is no margin of
error.

“I have driven in a green corridor once before, but I cannot get
rid of the fear of getting stuck in a traffic jam,” says Kumar. The
conversation is cut short midway as a doctor carrying a heart in an
organ preservation box hurriedly emerges from the airport and paces
towards the waiting vehicle.

The route is not very different from a VIP movement corridor —a
familiar irritant in Delhi — but causes barely five minutes of
inconvenience to other motorists along the route. Escorted by three
police vans and four motorcycles — sirens blaring constantly and
traffic officers on the way frantically waving aside obstructing
vehicles — the vehicle hits speeds of up to 100 km per hour to cover a
14km journey in 12 minutes.

In the end, a patient undergoes a successful heart transplant.

This is no longer a rare occurrence in the National Capital
Region (NCR). What began with a celebrated 32 km journey in 29
minutes from a Gurgaon hospital to one in South Delhi’s Okhla in
January 2015 has now become a regular way of saving lives.

Since January 2017, traffic police have arranged 44 green
corridors in Delhi at an average of over two such trips every month.
“On each occasion, a life was saved.” says Alok Kumar, Joint
Commissioner of Police (Delhi Traffic Police), proud of the fact that
every green corridor has been managed successfully.

Kumar says that never has a request for a green corridor been
turned down. “We can arrange green corridors within 30 minutes of
intimation. There is no margin for error,” says Kumar.

These special corridors are necessary to transport organs such as
hearts, livers, kidneys or eyes after harvesting them from a dying or
brain-dead person to a patient in another hospital.

Time is of utmost importance in these transplants. A heart, for
example, needs to be transplanted within four hours — the earlier the
better, to improve the chances of success.

“It takes six-seven minutes to harvest a heart. Another two-three
minutes are lost in placing the organ in a bag and rushing it to the
ambulance. Transplanting the heart into the receiver’s body takes 40-
60 minutes. We have three hours for transporting the heart from one
hospital to another, so we focus on saving time there,” says Dr
Kewal Krishan, Director of Heart Transplants at Max Super
Speciality Hospital.

SubQuestion No : 19

Question ID : 1626531297
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An

What does Jaikumar. the driver of the Ambulance
carrying a heart, fear the most?

F 0

The ambulance may develop a snag and not start
/5 2. The condition of the heart may deteriorate
+ 3. He may get stuck in a traffic jam on the way

/< 4. The police may erect barricades
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Read the following passage and answer the questions that follow.

NEW DELHI: His seat belt tightly strapped to his body and his
hands firmly on the steering wheel, Jai Kumar looks tense as he
waits in a Maruti Ertiga at the Indira Gandhi International Airport.
Today, a man’s life depends on his driving skills — he has to
transport a beating heart from the airport to All India Institute of
Medical Sciences (AIIMS) where a transplant is scheduled in an
hour.

The Delhi Traffic Police have arranged a ‘green corridor’ — a
special route that will give Kumar an uninterrupted passage during
the peak traffic hour in the morning. But still, there is no margin of
error.

“I have driven in a green corridor once before, but I cannot get
rid of the fear of getting stuck in a traffic jam,” says Kumar. The
conversation is cut short midway as a doctor carrying a heart in an
organ preservation box hurriedly emerges from the airport and paces
towards the waiting vehicle.

The route is not very different from a VIP movement corridor —a
familiar irritant in Delhi — but causes barely five minutes of
inconvenience to other motorists along the route. Escorted by three
police vans and four motorcycles — sirens blaring constantly and
traffic officers on the way frantically waving aside obstructing
vehicles — the vehicle hits speeds of up to 100 km per hour to cover a
14km journey in 12 minutes.

In the end, a patient undergoes a successful heart transplant.

This is no longer a rare occurrence in the National Capital
Region (NCR). What began with a celebrated 32 km journey in 29
minutes from a Gurgaon hospital to one in South Delhi’s Okhla in
January 2015 has now become a regular way of saving lives.

Since January 2017, traffic police have arranged 44 green
corridors in Delhi at an average of over two such trips every month.
“On each occasion, a life was saved.” says Alok Kumar, Joint
Commissioner of Police (Delhi Traffic Police), proud of the fact that
every green corridor has been managed successfully.

Kumar says that never has a request for a green corridor been
turned down. “We can arrange green corridors within 30 minutes of
intimation. There is no margin for error,” says Kumar.

These special corridors are necessary to transport organs such as
hearts, livers, kidneys or eyes after harvesting them from a dying or
brain-dead person to a patient in another hospital.

Time is of utmost importance in these transplants. A heart, for
example, needs to be transplanted within four hours — the earlier the
better, to improve the chances of success.

“It takes six-seven minutes to harvest a heart. Another two-three
minutes are lost in placing the organ in a bag and rushing it to the
ambulance. Transplanting the heart into the receiver’s body takes 40-
60 minutes. We have three hours for transporting the heart from one
hospital to another, so we focus on saving time there,” says Dr
Kewal Krishan, Director of Heart Transplants at Max Super
Speciality Hospital.

SubQuestion No : 20

Question ID : 1626531298
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How much maximum time do the doctors get to
transport a heart from one hospital to the other?

X 1. four hours
v 2. three hours

< 3. one hour
< 4. half an hour
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Section : Subject Related

Q.1 Which statement supports the constructivist approach in learning?

Ans X1_

Students cannot focus on the interrelationship among coneepts.

<2

Students cannot connect new ideas from previous knowledge.

p 3

Knowledge is passively received from the environment.

v

Knowledge is actively constructed by student.

Question ID : 1626531328

Q2 Personality is the function of:

Ans 1. heredity alone
/< 2. family and culture

Question ID : 1626531341

< 3. environment alone

« 4. heredity and environment

Q3 The first theory of intelligence wasa : Question ID - 1626531337

Ans o 1. single-factor theory
< 2. two-factor theory
< 3. multifactor theory
X 4. three-factor theory

Q4 - helps a teacher to become conversant with the objectives, classroom management and evaluation strategies.

Question ID : 1626531322
Ans

/< 1. Psychological analysis
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X 2. Sociological analysis
< 3. Anthropological analysis
' 4 Pedagogical analysis
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Q5

Ans

Why is intrinsic motivation better than extrinsic motivation?
# 1. Children learn due to fear.
/< 2. Promotes peer learning.
« 3. It accelerates self-learning.

< 4 Increases student discipline.

Question ID : 1626531323

Q.6
Ans

The period of ‘industry vs inferiority’ given by Erickson is influenced by:
X 1. society
/& 2. the home environment
v 5 the school environment

X 4. guardians

Question ID : 1626531335

Q.7

Ans

When a child watches a nature documentary the child may discover new animals and adds them to the existing group of
animals in his memory. This is called:

/< 1. schema
X 2. accommodation
V' 5 assimilation

< 4. equilibration

Question ID : 1626531334

Q.8
Ans

According to Thorndike a child should NOT be forced to learn. He called this as the:
& 1. law of effect
& 2. law of cause and effect
& 3. law of exercise
v 4 law of readiness

Question ID : 1626531331

Q.9

Ans

If a child from non-English language medium of instructions changes to the English medium, she/he experiences
difficulty in learning. This is called:

' ' negative transfer of learning
& 2. positive transfer of learning
< 3. zero transfer of learning

/< 4. learning is not transferred

Question ID : 1626531339

Ans

Q10 In the teacher-centred approach of education, discipline is:

& 1. shared

« 2. imposed

& 3. self-controlled
/< 4. participatory

Question ID : 1626531326

Q.1
Ans

According to Piaget's cognitive development theory the approximate age for Pre Operational stage is:
X 1.7 —12 years
W 2 2—7vears
/X 312 — 14 years

Question ID : 1626531325
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< 4. 0—2 years

Q 1 2 It is observed that a child is NOT able to do a task indep but p it with the assi: of an adult. This is
) called:

Ans X 1. the zone of influence
& 2. the zone of adult involvement
# 3. external influence
« 4 the zone of proximal development

an Ha@a &+ o ﬂ%r_cl'cl"\ﬂﬁ' %I Question ID : 1626531336
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Q.15 Which law states that learning can only take place when a student is ready to learn?
Ans  of 1. Law of readiness

X 2. Law of exercise

X 3. Law of effect

X 4. Law of use and disuse

Question ID : 1626531330

Question ID : 1626531324

Q.16 According to Piaget, problem solving ability develops in:
Ans

Question ID : 1626531333

< 1. the sensory motor period

' 2. the formal operational period
/< 3. the concrete operational period
< 4. the pre-operational period

Q17 Reinforcement to the students should be given:
Ans 1. at the end of the day

X 2. in front of other teachers
' 3 after the desirable behaviour is exhibited

/X 4. in the morning assembly

Question ID : 1626531332

Q.18 Teaching methods like discovery method and activity method develop:
Ans x 1 jIltElligEIlt thinking Question ID : 1626531340

« 2. divergent thinking
/< 3. convergent thinking
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/< 4. convergent and divergent thinking
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Q_ 19 An infant starts crying when her grandmother tries to take her from her mother’s lap. The child cries because of:

Ans 1. emotional anxiety

' 2. separation anxiety
< 3. stranger anxiety
# 4. attachment

Question ID : 1626531329

Q20 The theory of moral judgement was put forward by:
Ans X 1. Kohler

# 2. Thorndike

« 3. Lawrence Kohlberg

X 4 Skinner

Question ID : 1626531338

Section : Subject Related
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Question ID : 1626531355

Q2 Consider the following options and select the best option.
The aims and objectives of contemporary Indian sociefy are:

Increasing produectivity

Social and national integration

Acceleration the process of modernization
Developing social. moral and spiritual values

Ans 3 1. a. b, cand not d
< 2 ac dandnotb
v'3 ab.candd
X 4 ab,dandnotc

oo

Question ID : 1626531346

* grewmE § Far @i

XK. Retor wifafafien, s, Rvaasg
v Rvgarg, B, oo, saes
X s Twg-asg, awEh, fafafa, Rew
& 4. Rreyor BfYT, e, o

Question ID : 1626531356

Q.4

Question ID : 1626531348
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has endorsed the provisions, prescribed as.

Equal access to education for women and girls

Special measures will be taken to eliminate discrimination
Universalise education

. Eradicate illiteracy

Ans (1_

The National Policy of Empowerment of Women, 2001
/< 2. The National Policy of Education, 1986
/< 3. The Right to Education

a0 oe

< 4 The Women Empowerment Policy

Q.5 Which of the following is correct response about outcomes and objectives?

Ans X1_

Objectives and outcomes should be achievable.

K2

Objectives and outcomes should be measurable.

p 5

Objectives should be measurable and outcomes should be achievable.

v &

Outcomes should be measurable and objectives should be achievable.

Question ID : 1626531358

Q6 forrs & w9 & HT sy & T S Rwwor fren & BT =T e
oK o B sl war

< 2 e T cHETEAT FAT

v o zaragiies fRISTUT ST IUAET FHTET

A 4 OIS TSAAT AR FLT

Q.7 & Jonelt S8 TTe Bl 79, S, ol st Fefe e, g R s,
T st &1 WA e B Question ID : 1626531350

s X1 gt Taee
v 2 AT deaTe
X 3. grATas gead
X 4 grEfSreRar TTfcreferar

Q.8 Which of the following is important aspect in communication through technology?

Ans - X 1. Receiver
& 2. Sender
+ 3. Feedback
/< 4 Message

Question ID : 1626531343

Question ID : 1626531360

Qg The term represent approaches that focus on opening access to education and training provision, freeing learners
from the constraints of time and place. and offering flexible learning opportunities to individuals and groups of learners. QUeStiOn |D . 1 626531 349

Ans

/< 1. distance and continuing education
< 2. online learning
+ 3. open learning and distance education

/< 4. virtual learning
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Q.10 The Rehabilitation Council of India (RCI) Act (1992) passed in the Parliament, was created to regulate manpower
development programmes in the field of : Question ID : 1626531353

Ans 1. education for orphans

+ 2. education for individuals with special needs
X 3. education for delinquents
& 4. education for tribals

Q.11 The main postulates of the _____ (Equal Opportunities, Protection of Rights and Full Participation) Act.
Ans X 1. Education for All

+ 2. The Persons with Disabilities

/< 3. Right to Education

Question ID : 1626531354

< 4 Discrimination in Education

Q.12 BT (P A, T, A i semme F 5% O s & R gres-Rer A F
ol % R ag Fere aa g Question ID : 1626531345
s XK. RreT @ MRS
v 2 e R

X 3 gr aE FER
K 4 TR HeTEIar

Q.13 = @ wrehfaat w=fmt 7 3fte amfee st anfis w0 & g aaer & oo 3a & fer & #@ee
e 7 Question ID : 1626531347

Ans X1_
=T, g 5T g, AT T 9eiT T
K2
aiEie e, wE-Ren, Tely Ak oifiE g sem s

3
& e 3 sfeas R, ordifte girae, afgar Reer & Gy

X4
Frar-Rar #r Rfdra e, danst 71 gAY w1, Yok J FA

Q.14 Arrange the curriculum design process from following points as per the logical sequence.

Ans (1,

Content planning, objectives, methodology, assessment, evaluation, feedback

X2

Objectives. methodology, assessments, evaluation, feedback, content planning

X 3

Content planning, objectives, assessment, methodology, evaluation, feedback

X4

Objectives, content planning, methodology. assessments, evaluation, feedback

Question ID : 1626531357

@1° What is full form of MOOC? Question ID : 1626531361
Ans " 1. Massive Open Online Content

/< 2. Massive Online Open Communication
/< 3. Mass Open Optimal Communication
+ 4 Massive Online Open Course

e F=aT 18T T 3Helr 32T F4AT %‘7 Question ID : 1626531342

Ans
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?{1- =Y IRT & BT e

aézﬁm#mmaﬁtmmm
n‘i;;mmmaﬂzmmw@mammﬁm
a?a;‘tém, FaT, Tiewor R Ear F RefEa a5

Q.17 At the secondary stage. the state governments should adopt and vigorously implement, the three language formula. This

recommendation was given by the g Question ID : 1626531344
Ans X 1. NCF

< 2. Kothari commission
' 3 NPE

< 4. Education Commission

is an effective strategy of instructional appreach that embraces the needs of academically diverse populations of

students, in particular students who are gifted or who have disabilities. QUeStiOn ID : 1626531351

Ans X 1. Modified instruction
v 2. Differentiated instruction
& 3. Remedial instruction
& 4 Individualised instruction

Q.18

Q 19 is a process that helps to overcome barriers limiting the presence, participation and achievement of learners.

Question ID : 1626531352
Ans

/< 1. segregation

/< 2. mainstreaming
/< 3. integration

W 4 inclusion

Q20 What is the requirement of curriculum development?

Ans X1_

To change the old eurriculum and implement new practices in it

X2

To follow the norms given by education commissions

p !
To meet global standards for emplovability of students
v -

To know the needs of changing society and provide education for sustainable development

Question ID : 1626531359

Section : Subject Related

Q.1 Which of the followingis NOT applicable to internet safety? Question ID : 1626531363
Ans 1. Changing passwords regularly

' 2. Updating status during picnic

/< 3. Child lock system

& 4. Use of antivirus software
% srer ESLERy gt & 9 gl Question ID : 1626531378
Ans
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X1 Ty
X2 ofRow
&3 AT
v 4 uEaei

GET IT ON

Google Play

Q3 Multiple choice test is an example of:

Ans X 1. Intelligent thinking
& 2. Random thinking
' 3 Convergent thinking
X 4. Divergent thinking

Question ID : 1626531368

Q.4 Four year old Ria could fluently speak Bengali other than Hindi, her mother tongue. Nebody spoke Bengali at home
except for two maids at the day care she went to. How did Ria learn to speak Bengali?

Ans 1. She was taught at the day care
< 2. Her friends taught her
#< 3. The maids at the day care taught her
« 2. She picked up the language from the maids

Question ID : 1626531373

Q.5 Students use their fingers to calculate numbers. Which maxim is used here?
Ans 1. From simple to complex

v 2. From concrete to abstract
/< 3. From particular to general

X 4 From known to unknown

Question ID : 1626531380

Q.6 Which part of the Constitution contains provisions related to language?
Ans x 1. 19

X220

v 17

X418

Question ID : 1626531369

Q.7 Which one is NOT an appropriate option from the following?
Ans X 1. Write a movie review : Critical thinking

K2
Write a blog to express views : Creative thinking

' 3. Prepare poster : Problem Solving
p

Prepare presentation : Interpersonal relationships

Question ID : 1626531365

Q8 pow many languages are mentioned in the 8t schedule now?
Ans X120

<218

V'3 22

X4 14

Question ID : 1626531376

Q9 e fRrator T 2

Question ID : 1626531374



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2y7 Eonle Play

MK s R
X > gt e
X 5. it e
v s fen

Q10 frarept r RYefor & FEEHBIT FT ST FAT AT TRT?
Ans X1,
AffeT greiler &7 9N9TET 397 § 39dT

v 2 A, @ AR e @
X 3. FAeH g9 & TATET FT FH F&AT
X o FOFTH Hgwar F1 fHsor

Question ID : 1626531364

Q.11 == o saafiug &7 & O 3T 3207 oF &1 aeg faefag o= § o =¥ a7 #ar ST 37

e X T Refag #war
v 2 raeier Tfeesmor
X 3 plerer fEwfag F@T
X 4 erE AR gaEgar

Question ID : 1626531381

Q12 YWhat are the steps of ADDIE model?
Ans o 1.

Analysis, Design, Development, Implementation, Evaluation

X2

Application, Design, Development, Implementation, Evaluation

p

Application, Development, Design. Implementation, Evaluation

< 4

Analysis. Development, Design. Implementation, Evaluation

Question ID : 1626531367

Q.13 What is a disadvantage of computer-assisted language learning?
Ans X 1. Used for remedial teaching
2

Less interaction between student and teacher

Question ID : 1626531371

/< 3. It can be expensive

< 4 Less motivation factor

Q.14 #mEr-far = 537 anoh 899 ¥ B Gy § @ 39 a7 sfg fees 22

Question ID : 1626531362

Ans x 1. = =

X2 e

v Sae

X4 BrH
Q15 What is the use of drill and practice software? Question 1D - 1626531366
Ans

« 1. To practice facts and remember procedures
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< 2. To make clear understanding of concept
/< 3. To repeat content till understood

/< 4. To remember content

Q.16 afz F1F o7 7% 9T W F THEAT 5T FHAT T W@ ¢, af AT IFHr F7eg F7 F07
Question ID : 1626531370

Ans  of 1.
T3 o WG THYT UE.UH.R.SEY, I H HEAT FLAT
X 2 ggdr eegrEelr
p 3
W HIAT AT AT W HAAE Theileh B IAART FA F T Fger
< 4

AT 3 TS &9 & STTHIOT T ol el

Q.17 What is the reference of following objective? .
Question ID : 1626531379

‘Students begin to perceive the structure of mathematics as a discipline’.

Ans X 1. NPE (1986)
X 2. NCF (2005)
X 3. NCF (2009)
« 4. NCF (2000)

Q18 amr gt =, T T e F P& g 22 Question ID : 1626531377
s X1 sreR-Fearvor

X2 sfereat

v

X 4 HEETIT T SreeyoT

Q.19 According to the three language formula, what should be the first language?
Ans X 1. English

X 2. Hindi

X 3. Any modern language

« 4 Regional language/Mother tongue

Question ID : 1626531375

Q20 yyhat makes discussion more effective?
Ans X 1. Debating attitude
v 2

Discovering unknown factors and tolerance of views

Question ID : 1626531372

/< 3. Interaction among the participants
& 4. Control of a teacher

Section : Subject Related

Q.1 i - ; ion?
What skills are developed by a mathematics education? Question ID : 1626531383

Ans

« 1. Problem solving, creative thinking
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/< 2. Decision making, creative thinking
/< 3. Problem solving, inter personal relationship

/< 4. Decision making. problem solving

GET IT ON

Google Play

Q.2
Ans

According to Selman, self-reflective perspective taking sets in the age group of:

& 1. 14 — adults
W 2 7-12 years
/X 3. 10 — 15 years
X 4 3 -9 vyears

Question ID : 1626531399

Q.3

Ans

‘Which of the following statements is NOT TRUE in the context of the main objectives of teaching environmental
education at theprimary level?

Ko

To understand interaction between the various elements and components of the environment.

X2

To build understanding, awareness and sensitivity towards causes and efforts of the class that.

p 3

To know and understand the interaction between mammals, between humans and their environment

v &

To know and understand true aspects of the life education.

Question ID : 1626531388

Q.4
Ans

TrATafEd & ¥ FiF T ¥rdgg s== F FAeg T T U THE FH A4 67

v s (TshEfE)

X 2 grefaer

X5 R

X4

HHRIcHS HIASH STTER & AT e

Question ID : 1626531401

Q5

Ans

All of the organic and inorganic compenents surrounding us, as well as the events, conditions and processes of their
interactions. are collectively known as 3

< 1. biological components

< 2. the ecosystem

/< 3. material interchange

o 4 the environment

Question ID : 1626531384

Q.6

Ans

TEEROT AT Te H HET 32T o F BT gl
v &)

T At Ter 3T AT & gEe gy amiem-anie oRtfRufaat st gEewnt w gawEn,
ST TR FTe, AR 3HF FenfEa wATTAr A Fomer Fr

X2
- A= Fr Fo TEET vt & S st s s

p 3

Wmmr#mmﬁﬁmg,mmmﬁﬁ?ﬁﬁﬁam

< 4

I HAITSR-ATTRE 9307 & AgcaqoT TEat F1 W A, 3R 3w Rt gweet w wwEser

Question ID : 1626531387

Q7

Ans

TR R F 9o & AT 39w & e s s Rt # @ o afsrg R
F UF TEN ¥, @ VoA 3907 ¥ v aafft sk o= & avedw ww

X FHE #r iferferar
X 2 afser fafy

Question ID : 1626531386
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v 5 qode Hreniya e
K4 3 978 Flee

Q.8 oI F 9 TE § T T B FH wd § o 3w @ s @ wa § o A
SR 3 frer A & w7 & F a gaa B Question ID : 1626531389

s X A arE
X 2 FArETfrar e
v 5 grfas e
X4 g wE

Q9 Outdoor games are the best solution for:

Ans X1_

developing psychomotor skills among the students
X 2. making students healthy

p 3
keeping students away from mobiles and technology

v &

teaching students how to accept loosing situations and improving intrapersonal relationships

Question ID : 1626531397

Q10 Which of the following is the best example for creativity?

Ans (1,

Trying to create your own musical instrument by using seven ceramic bowls with water such as a Jal Tarang

Question ID : 1626531393

/< 2. Performing a new role in a skit
/< 3. Playing a new tune on a guitar

X 4. Listening to new songs

Q.11 Inthe peer acceptance aspect, children who receive equal number of positive and negative votes are called:
Ans « Question ID : 1626531400
1. controversial children

X 2. neglected children
X 3. rejected children

/< 4. popular children

Q12 farger FHROT AT FheiREedT 39a & TR s e #2
K T e (@et-aiee ee)

X2 ofng T

3

frlie oo fAew (Rads aver-sisa sTemee)
X+ grEgedt e

Q13 YWhat is regional art and craft?
Ans « 1.

Art originating among the people of region, reflecting their traditional culture.

< 2. Art and craft related to a particular region.

Question ID : 1626531398

Question ID : 1626531392

& 3. The art we can see at various places.
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X 4
Modern art influenced with traditional approach.

Q.14 - .
TF WHTSIE 3e0d= et # amaeds qor 47 22 Question ID : 1626531391

Ans X1_
FFEEHF AT H =S @ A GEIewd, SHEEH H TH eI

X2

TEISE WEUTS, TS F & TMEL, UH HEOT AN aTr fr 9=2fy F v e
v &
HFEfHF Aedar, AT O AR FATEF JE H ey §AE & Ay gatead
K4
A IO, TH SRS 3R OF FHR H 30T R Faeed

Q.15 How can you observe a student for gardening activities?

Ans ( 1.
Right from the beginning till the end of the activity

Question ID : 1626531395

/< 2. While preparing for gardening activities
/< 3. During his activity time
< 4. After completion of the gardening task

Q.16 Rt g vagh # Rw g w5w TeuwA A afAe Rydt 39 - ana F o, AR R
aRER, Y TR & F93, gAN iee, A &w, fawfha @ § Question ID : 1626531390

A 1 et i aTETee G
X2 gftsy F A9l F & 7 SFel
X o WiEpiaes ToasifA
X 4 FaT Fr gEA

Q.17 =aieer R sqermes # #% iR agEd &9 ¥ 7% 5e0 &9 ¥ e e W SR 8

Ans «"1_

T 1 R S, S SO & d s i i, S e s
<2
< 3.
wrpfaes 3R 9ia amersdt 3 9guor & FRoT HROT MR RomE
X4

HTETET, TRy, T9=0dT, HEU 99a Fr gHEET

Question ID : 1626531385

Q18 Prmfafge # & #ia @ R BT 5% g o smfiE 392
e X 1. corETT wE T AR

Question ID : 1626531382

Q.19 Far fram ¥ wew # o F 9= I BEfag s F B g7 9w 51 e §7

Ans «"1_

T F T A THG FS GO R o FOT T F IR AR eaiies wa A s werer s

Question ID : 1626531394
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X 2 Fer BT Fr Heary g9

X 3

FolT AWy o Trer o & Jaleg 3% &
X4

FAT & ACAA T FE F TFT T F Feed F I F OE B ATH HLA

% vt wrEt Heg ° Far %‘7 Question ID : 1626531396
M ey AR FERRe w9 @ aeeE

X 2 e =S 5 T
X 3 it fheaw & e

X 4 gy fRRRR F o @

Section : Subject Related

Q.1 wa & AR & A # aenst # gw 79 F @ w §, Fae 58w F s
Ans ‘,1 ﬂﬁ h ﬁ'm

<2 grar-Rar $r R ik T

X o e

X4
T F e F areafed qffer & R F F7 Feehdr

Question ID : 1626531421

Q.2 smem-gEer ik sem-wEE I & T & fv Trwfafae afafRet & ¥ s afEe

s XK1 srreemat @ sfEenEa

v FAleE ¥ eI

X 5 gErTeAs wiafear afafafmr

X 4 zre afafafaar
Q.3 urufe Reges & #10 F Touw & ) & feafatad & & #i9 o a7 78 78 7
XK e B A R R wer

o 2
foreTt & e gfiemor it Jredw 7 3T
X 3
T Retrt, Rt st mrar-Rar = oafde w==r

< 4

T F T e A mE e ¥ e s iR wfafefiat & ey # et T

Question ID : 1626531413

Question ID : 1626531418

Q.4 What is the minimum requirement from school to deal with health related problems?

Ans X1_

Availability of a doctor in theschool premises

< 2. Funds available for health issues

3

Teachers, school nurses, parents and children have basic knowledge about managing respiratory infections, asthma, and
diarthoea

K4

Question ID : 1626531407
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Good structure of a school building and sanitation facilities

Q.5 i A
Which of the following can be the best place for aschool? Question ID - 1626531404

Ans X" 1. Away from pollution
& 2. Out of the city

/< 3. In a natural environment

« 4. In a locality safe for students

Q6 FiRw g FT TEEAR TET HH T H AHT 1T &2 Question ID : 1626531403
XK wEtEE Fr gt
X 2 mrfaratr fr Feerarar
X 3wt & eEe
v o gferar @ SedEa

Q7 WWho is responsible for health of the child in school? Question ID : 1626531405

Ans X 1. Doctor in school
v 2. Headmaster
& 3. Class teacher
< 4. Parents

Q8 ‘Who recommended the inclusion of skills-based health education, life skills, child-friendly/health-promoting schools?

Question ID : 1626531408

Ans K 1. NPE
X 2. NCF
X 3. NCF (2000)
v 4 WHO
Q.9 . as mandated by the Right to Education Act (RTE) 2009, have a eritical role to play in ensuring accountability in

the education system to empower the parents to monitor school functioning. QUeStiOn ID 4 1 62653 1 41 5

Ans  of 1. School Management Committees
< 2. School Monitoring Council
/< 3. School Meeting Centre

< 4. School Management Council

10 - - g -
A1 gerrEr e TEUS F TEY TERE Hehes® FT 47 Question ID : 1626531417

Ans X1_
EHIRE ST, §OR, 87 1 FH, FHEIS SEERT
X2 Bw a1 fAFear § ¥ F15 746
v

X4
SUTIATTA &THdT, saiadeid (9o, &F 1 FIH, TLETh g9

Q.11 = frew & saffa s ger v @ Fr=ffEe Rdvast = fefte s § R

Ans X1_

THEE AR, FEeaer B AR o 3 & S whe fefa s

Question ID : 1626531411
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K2
gfevar it wrETie TR AR aEafawar @ REw G &
X adas & R # Acs F 4 F

v &
e H UEY oIy 3T gaTar #r Refag 3R sed F

Q.12 FNT FHTeE B STARTAT F HUR W AR TR AR = & S F Hgan #,
s, F92, TS S iR AR ¥ ge MR a afde wxer d Question ID : 1626531410

e T RreT
X 2 wERe
X g F
X o FE T

Q.13 1 chi :
Popular pro-social children: Question ID : 1626531402

Ans o 1. show academic and social competence

X 2. are authoritative

< 3. are dominating

< 4. are athletic and physically well-built

Q.14 o1 veee Sfwar & waflie The RerH S Toue defedy # et ol d JE & Fao
T S Question ID : 1626531419

Ans x 1 =
X 2 g=mr 3k gEgrer
Vs Gfy fEmT
X4 FeTT JEUA
Q.15 is a necessity in enhancing work performance and motivation of teachers in the field.
A Question ID : 1626531414
ns X 1. Increments based on performance

< 2. Reduction in workload

v 5. In-service teacher training

< 4. Summer/Winter school

Q.16 . p s g
How should children be protected from ultraviolet radiation? Question ID : 1626531409

Ans

< 1. Arranging nature visit camps
+ 2. Planting shade trees around school grounds
< 3. Allowing ventilation in the class

< 4. Taking students on ground

Q 1 7 Nutrition and food safety; water quality; air quality; sanitation facilities; transportation; waste; facilities design,
) construction, renovation and maintenance; grounds; hazardous materials storage; pesticide use; and purchasing comes : .
il Question ID : 1626531406

Ans 1. Procedural policies of school

/< 2. Financial strategies of school
/< 3. Aims of objectives of school

' 4 Specific intervention strategies of school
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Q.18 w1 ol o oS e @96 F w9 & aRena R srer ¥ @y an e v
F o & A, WS, SEEeEE A i saeaEans F FAdE ST Question ID : 1626531416

MK aErTe waToT
X 2 wHERe FEIRaE
X o grEsiAe TSy 6
v\ THET HT AENERT

Q.19 oEt #r & 13 fEEan At §

Question ID : 1626531412

a.TF INER % FeEd % T H O F FH F UF T H AT I AR FE
b. 379firse FFT T FTIRT e FiE o v S dOR e

o B ¥ BT oEt & g@ 9T & d@fw e § 9 e

e K e 3R FER
X2 Fem (Afaw) e
Vo T R
X 4 AT e

Q.20 =, 3% e 3R 9w R GRfEs = & B o o Reta w5 F
3T Question ID : 1626531420

Ans X1H,3?fiﬁ'9?ﬁ
X 2 Fpel & qROTH

v 5 arar-far S gt
X 4 Fpel FEX
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